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QUESTION 1

In an environment with two or more VDCs, which operation is unavailable when network connectivity is interrupted
between the VDCs?

A. Read object

B. Update object
C. Write object

D. Create bucket
Correct Answer: A

Reference: https://storageconsortium.de/content/sites/default/files/downloads/EMC%20ECS%20WP_h14071-ecs-
architectural-guide-wp.pdf (30)

QUESTION 2

You are configuring a DD Cloud Tier and ECS system as part of a LTR cloud backup solution. When adding the Cloud
Unit in the Data Domain system you cannot connect to the ECS system. What is preventing the configuration from being
completed?

A. The namespace used for DD Cloud Tier is applied to a federated VDC instead of a single VDC.

B. Two different DD Cloud Units were added as "Dell EMC Elastic Cloud Storage (ECS)".

C. Other namespaces reside on the same storage pool where the namespace for DD Cloud Tier is created.

D. Ports 9020 and 9021 are closed in the firewall between the DD system and the ECS load balancer.

Correct Answer: B

QUESTION 3

A newly configured ECS system contains 8 nodes. How many fragments will each ECS node contain when a data
chunk is broken up by erasure coding?

A.2
B.4
C.8
D. 16

Correct Answer: D
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QUESTION 4

An organization wants to implement a federated ECS between two sites and use Dell EMC Isilon CloudPools
functionality to archive data to ECS for long term retention. They are planning to implement ECS with network
separation. What could be deployed optionally in this implementation?

A. DNS entries

B. Static routes configuration

C. Static IP addresses for each of the ECS nodes

D. Load balancer configuration

Correct Answer: A

QUESTION 5

Which switch is used to daisy-chain three or fewer ECS racks?

A. Customer supplied

B. Rabbit

C. Hare

D. Turtle

Correct Answer: D

Reference: https://www.google.com/url?sa=tandrct=jandgq=andesrc=sandsource=webandcd=4andved=2ahUKEwigreWL
06LhAhXa4KYKHT1HDaAQFjADegQIAXxACandurl=https%3A%2F%2Fwww.dell.com%2Fcommunity%2Fs%2Fvjauj585

49% 2Fattachments%2Fvjauj58549%2Fsolutions-ch%2F477%2F1%2Fh14071-ecs-architectural-guide-
wp.pdfandusg=A0OvVaw3UKf7xwqgh4ZN_fGfZUi-xy
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